EARAROBREBRT —5 XN—ZXBISH—F 2022E58118 (K) 3O@AH3H

Lt SHR—ix C2t)/\ BRI
[AE%) 1 % :1,000,000 § ~ 237&:400,000 ™  33#%:250,000H . 43#%&:150,000 5 & :100,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
18 4 E—2 ISV 4 7 gl'gi%iz% 1:(42).6 9-9-9-7 [39.4| -— 6 442 ?EE%E (K#)
QIO—YRAUAA BIRANZRZT— - )| e
o [ SR 1:42.7 8-8-6-5 |39.7| - 1| 493 | IITEfE (KHD)
Y—ZFY SRR I & ¢
2807 | et e %0 (2 () |BEER
RFRF BN—FAHTI RERE
o R w i o5 | REETH 1:42.8  [13-11-10-1139.2 | — | 13 | 433 |AREEZ *KH)
‘H’ ;-‘;'jl'\l?J?(l)\b'jl—S’)bD—Z' a0 2 “ §%§¥_A
. of. [=} Vi
_ 4 5 | ERE 1:42.8 2-2-1-1 | 40.6| — 5 515 | ERE (KH)
W ey s
» B4 | )3 1:42.8 3-3-2-2 | 40.0| - 4 | 461 | KEZEHH (KH)
5011 |*FU=X 56.0 J¢ FEmE—
RITUIA9—2 B:HTRAIU—X @e) @) | Sh=Tr—i
== — > 5 | EEB 1:43.1 4444 | 40.3| - 7 | 474 | KEEH (KH)
61813/ 939YTI=v T 56.0 1172 i bess
ilian's Hap 8 ko hY—IL—ILR a2 DU ETE Ay PN
717111 AA—L vy rHI5 % 6 | FEEZ 1(:43.)2 7-5-3-3 404 — | 2 | 518 ;%E?EE (K3
. 1/2 o
RAR—RTPVAY B RA—Ly RIS W 55—
S AVEDS L L ;E%ﬁ 1:43.6 5-6-5-6 | 40.6 | — 9 504 gﬁg% (KFH)
. 2 125
RO=YRA VAL BT ROV @ )\ SIS
— o A~ o4 | PR 1:43.8  |14-14-14-13)39.6 | — | 12 | 546 |EBPAUX _(KH)
FqLAOATIS— i o4 51%75 1( :43.59 6-7-7-8 [40.9| — | 11 | 514 gﬁ% (1)
. is SE=
RUFPNAVIRT b BRAXSYARYT— 7 | el sm
TRy it 6 | RREE 1:43.9 12-13-13-12| 40.3 | — 8 447 | FHE3hE (OKF)
itf/{:m)nb B9 FI55— e @) © %K%E%?i = ANIEY S &5
: SN = = ik SUF
1) FSw H o4 | @S 1:43.9 10-12-12-10| 40.4 | — 10 | 496 |FEEEE (KH)
zj)bjﬁ?;:;gfl\“‘yyay %0 7F3) #12) EEBE]*
g o8 | HBEM 1:44.7 11-10-11-9 [ 41.4 | — 3| 443 |EBE KH)
ﬂ’ib/l?”ft_n i %53.0 @ ) | @ Tr—2bETay
R:NA40 B:YvIFaHD HIEFHUS
TITHF 4 —F 6 #ﬁ{%@oﬁ (1:51.0) 1-1-8-14 | 48.2| — | 14 | 507 é‘éﬁf‘é (K#)
. IAY o RIE—
RF4—FTUSYF B INTUVD 2 g m
@ 11— —BRIEfI
10—7+— 8,14,1,13,3,5,11,7,4,10,9,12,2,6
20— — 8,14,1,13,11,3,5,7,4,9,2,10,12,6
30—7F— 14,1,11,13,3,7,5,8,4,2,9,10,12,6
40— — 14,1,11,13,7,3,4,5,9,10,2,12,6,8
o ILRE
BB 4 1,080 | | 94 R 4-7 530 & 3-5 1,180 3ER 2-4-7 49,570
B B 4 240 2-4 9,460 B 3-5 2,870 3Es 4-7-2 171,670
7 160/ 2-7 9,140M 5 & 4-7 1,2104
2 3,180H =51 4-7 3,140

ABIC OV TRUTEREERRODDZE. THRIIZEL.




